HEZARIG: 300103 IESR R FR: XN AEHS: 2023-49

IERIE R SR E B AR A
RTFEER S%A_EBRBFF ARG B TR B8 10 55

R 5% L ERBARRFREMRERN A AT RKIEBABTESE. #H. 55
&, BAEERRCR. REUEHFRRERER.
FAT REFSEERRRREA S WA SE BBEE X F ANREHEE—B

KRR -

A A F) B4 60,026,590 Bt (5 AF] B BRAHLFIN 18.90%) MM ARICH B
BkR B AR RIA G ZHE 15 MRS HER 6 M WELRF TN LT
KB AT B BRFTRIAEZHER 6 M NBETKRRS TR
ARG, BREEA AT 9,520,000 B (£ 5 AT BBAR 3%). K, 7
ERES 90 H s & TN 7 N HEA T A 5 R4 BEH 1%,
FEARRESE 90 H Pt KR35 4 IR i BB A e A B R4 B 40 2%,
WRIFPAE RIS BN AEHE -

RN R A IR AT (PR RAR “Aw 7 5 “ENEER 7 T Hik
BIFFIE 5% LA EBR TR BB (WMD) ARAR (BURRIFR “ILig 587 I8TEH
CRTIBAF 2> 7] A B 5 FIBR Yo BURS ISR TE DL A & U R

= BEREREL

1. ARk Seay oy (BHD FIRAH

2. FRBCHCE: SEHE B A F 60,026,590 BBy, oA FLEBEA LR
18.90%.
= RRBARBSF R EERE

1y AU A ) s I



B A B ST I A BR A =] (BURNRIFR “HREs: ") JT R 1l Bt
W55l 1A A R LE RITE B TR AR RN B AT 55, TR RIESR SR RF e A 42 1%
I A PR A AT R 2 ] 2 7 A5 I A8 2 FEORAIE 3 K 57 AT 1) 78 0 38 M % e e
5 AR B 4 Y DLER I FH R AIE SR O Rl B

2 PR ORI B PR AR 2 RSB R A e
fkadh CAREIKD) 1A BRI B A -

3v WA RTINS KSR Z T

4 JEFFIIE): RIS e 5 7 N EH T R A T 2 Hilg 15 M HE
(K16 AN H WREAT: RAKORAZ S 7 KB R 25 2 HER K 6 S H kAT

5. RS K EL s A R I o AR T 9,520,000 B (£ A F]
A 3%)

6. JRFFANAR DXIA): AR IR I R T 7 0 s A 52 5 7 2l €

Ve BRI, WA RIAELEIRE . 6 Ry S5 A B i SRR o B A
TG, AR YRR I AR B B AT RR O M R 2 AT 1 S 2

= BEAEBRBITER
PEAF R BE N P EL L Ty A2 AR AZ R A B A ARG AR A
M. MHRRREERR

L SEBHESHARAR TSRS 4 M Vst R 75 R IR P 55 A
FRTRD, e, DRIFIORTIN. BB UM b

2. ARUGFF IR & GIEFHE) CETARIIR . 35 W S B g i -0
SE ) CGARYINESRAZ 2 B GUME AR SE BT ) GARYINESR A2 % B i 2 =) B A
EARGIH 2 5——8hAR B AR REEE) GRYINEZRAE 5 P Erii w2 &
ER WHE SPE PN DRI B SERE AR ) SEEEE R S SRE R

3y ARIEFFTHRIN SEHtiA 2 T BUR FHERIBUOR AT, TSR~ Fia
L VNS SRR YREE TN A B



4 O FDRE RS S S AR AR U R PR SR SR SIS 0, IR I B AR H
FHRIE B I JEAT A5 B0 55 . WOl RI B H BMERR, R .

&, FEXH

SR PCBTHEA CORTHIBERF 2w A R 25 N R ) o

I W AR P e A A7 BR 22 )
EH
“O =N+ 0



